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 BECC-134  

BACHELOR OF ARTS (GENERAL)  

(BAG)  

(ECONOMICS) 

Term-End Examination 

December, 2022 

BECC-134 : PRINCIPLES OF  

MACRO ECONOMICS – II 

Time : 3 hours Maximum Marks : 100 

Note : Answer questions from all the sections as per 

instructions.  

 

 SECTION A 

Answer any two questions from this section in about 

500 words each. 220=40 

1. Discuss the shape of the AS curve. What are the 

factors that lead to a shift in the AS curve ? 

2. Derive the IS curve from equilibrium output in 

an economy. Why is the IS curve downward 

sloping ? 

3. What does the Phillips curve signify ? Why is it 

downward sloping in the short-run but vertical in 

the long-run ?  

4. Discuss why there is always a policy dilemma for 

an economy with perfect capital mobility. 
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 SECTION B 

Answer any four questions from this section in about 

250 words each.  

 412=48 

5. Discuss the factors that influence the AD curve.  

6. Explain the impact of demand shocks on output 

and price level for an economy.  

7. What is meant by Unemployment ? Discuss the 

types of unemployment in an economy.  

8. What do you understand by Balance of  

Payments ? Do you agree with the statement, 

‘‘Balance of Payments always balances’’. List 

your reasons.  

9. Briefly explain the Asset Market approach to 

exchange rate determination.  

10. Discuss the implications of the Quantity Theory 

of Money.  

11. What does an LM curve imply ? Explain the 

factors that affect the shape of the LM curve.  
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SECTION C 

12. Write short notes on any two of the  

following : 26=12 

(a) Shape of the IS curve 

(b) Core Inflation  

(c) Structural Theory of Inflation  

(d) Purchasing Power Parity (PPP) 
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 ~r.B©.gr.gr.-134  

H$bm ñZmVH$ (gm_mÝ`) 
(~r.E.Or.) 
(AW©emñÌ) 

gÌm§V narjm 

{Xgå~a,  2022 

~r.B©.gr.gr.-134 : g_{îQ> AW©emñÌ Ho$ {gÕm§V – II 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r ^mJm| go àíZm| Ho$ CÎma {ZX}emZwgma Xr{OE &  

^mJ H$ 

Bg ^mJ _| go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| 
(àË`oH$) _| Xr{OE &  220=40 

1. AS dH«$ Ho$ AmH$ma H$s MMm© H$s{OE & do H$m¡Z-go H$maH$ h¢ 
Omo AS dH«$ H$mo {IgH$mVo h¢ ?  

2. EH$ AW©ì`dñWm _| g§VwbZ CËnmX go IS dH«$ H$s ì`wËn{Îm 
H$s{OE & IS dH«$ H$m T>bmZ ZrMo H$s Amoa Š`m| hmoVm h¡ ? 

3. {\${bßg dH«$ Š`m Xem©Vm h¡ ? `h AënH$mb _| ZrMo H$s 
Amoa T>bmZ dmbm bo{H$Z XrK©H$mb _| D$Üdm©Ya Š`m| hmoVm  
h¡ ? 

4. MMm© H$s{OE {H$ nyU© ny±Or J{VerbVm dmbr EH$ 
AW©ì`dñWm Ho$ {bE h_oem EH$ Zr{VJV Xþ{dYm Š`m| hmoVr 
h¡ & 
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^mJ I  

Bg ^mJ _| go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| 
(àË`oH$) _| Xr{OE & 412=48 

5. AD dH«$ H$mo à^m{dV H$aZo dmbo H$maH$m| H$s MMm© H$s{OE & 

6. EH$ AW©ì`dñWm Ho$ {bE CËnmXZ Am¡a H$s_V ñVa na _m±J 
Y¸$m| Ho$ à^md H$mo g_PmBE & 

7. ~oamoµOJmar go Š`m A{^àm` h¡ ? EH$ AW©ì`dñWm _| 
~oamoµOJmar Ho$ àH$mam| na MMm© H$s{OE & 

8. ^wJVmZ eof go Amn Š`m g_PVo h¢ ? Š`m Amn Bg H$WZ 

go gh_V h¢ {H$ ‘‘ ŵJVmZ eof gX¡d g§Vw{bV ahVm h¡’’ ? 
AnZo H$maUm| H$s gyMr ~ZmBE &  

9. {d{Z_` Xa {ZYm©aU Ho$ n[ag§n{Îm ~mµOma Ñ{ï>H$moU H$s g§jon 
_| ì`m»`m H$s{OE & 

10. _wÐm Ho$ n[a_mU {gÕm§V Ho$ {Z{hVmWm] H$s MMm© H$s{OE &  

11. LM dH«$ Š`m Xem©Vm h¡ ? LM dH«$ Ho$ AmH$ma H$mo à^m{dV 
H$aZo dmbo H$maH$m| H$s ì`m»`m H$s{OE & 
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^mJ J  

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE : 26=12 

(H$) IS dH«$ H$m AmH$ma 

(I) _yb^yV _wÐmñ\$s{V 

(J) _wÐmñ\$s{V H$m g§aMZmË_H$ {gÕm§V 

(K) H«$` e{º$ g_Vm (PPP) 

 

 


